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(m) (m) (kN/m) BB RfE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
1 100kN/mM##8Z% % 1.00/0.00 ~ 3.75 160.90[3m%#2x5|0.00 ~ 2.24| 4.04 20.41| 100kN/m%i#Bz % 1.00] 10.53 ~ 52.04 160.90| 3m##8Z 5| 25.00 ~ 52.04| 4.04 20.41
Zzhlst 1.00] 3.75 ~ 11.53 100.00] =hbilst |2.24 ~ 11.53] 3.00 15.16 zhLst 1.00] 5.00 ~ 10.53 100.00] #hrist | 5.00 ~ 25.00| 3.00 15.16
2 100kN/mM%E#8 % % 1.00{0.00 ~ 3.80 161.78|3m%=#E 25| 0.00 ~ 2.26| 4.05 20.46| 100kN/m%i#8 x5 1.00| 10.53 ~ 57.54 161.78| 3m#iBZ 5| 25.00 ~ 57.54| 4.05 20.46
ZThilst 1.00/ 3.80 ~ 11.58 100.00] Zhbllst |2.26 ~ 11.58] 3.00 15.16 ThLst 1.00] 5.00 ~ 10.53 100.00] Zhuist | 5.00 ~ 25.00| 3.00 15.16
3 100kN/m%##B %% 1.00{0.00 ~ 3.70 159.93|3m##E25|0.00 ~ 2.18] 3.99 20.16| 100kN/m%#B x5 1.00| 10.55 ~ 6248 159.93| 3m##8Z 5| 25.00 ~ 62.48| 3.99 20.16
Fh st 1.00] 3.70 ~ 11.48 100.00| #h st | 218 ~ 11.48] 3.00 15.16 Fh st 1.00] 5.00 ~ 10.55 100.00] #hli4t | 5.00 ~ 25.00f 3.00 15.16
4 100kN/mM%#8 % % 1.00/0.00 ~ 3.93 164.08|3m#=#E25|0.00 ~ 1.66| 3.89 19.67| 100kN/m%E#% % 1.00] 10.88 ~ 45.96 164.08| 3m##8Z 5| 25.00 ~ 45.96| 3.89 19.67
zhilst 1.00] 3.93 ~ 11.71 100.00] =hbLlst |1.66 ~ 11,71 3.00 15.16 zhLst 1.00] 5.00 ~ 10.88 100.00] Zhrist | 5.00 ~ 2500| 3.00 15.16
5 100kN/mM%E#8Z% % 1.00{0.00 ~ 3.69 159.86|3m#%#E 24| 0.00 ~ 0.65| 3.38 17.07| 100kN/m%#B 25 1.00| 10.95 ~ 36.81 159.86| 3m%z % %|25.00 ~ 36.81| 3.38 17.07
zhst 1.00] 3.69 ~ 11.48 100.00] Zhilst |0.65 ~ 11.48] 3.00 15.16 zhst 1.00] 5.00 ~ 10.95 100.00] Zhuist | 5.00 ~ 25.00| 3.00 15.16
6 100kN/m##B % % 1.000.00 ~ 3.53 156.92| 3m##E 25| 0.00 ~ 0.38] 3.20 16.19| 100kN/mM%#B% % 1.00| 10.55 ~ 34.94 156.92| 3m##8Z 5| 25.00 ~ 34.94| 3.20 16.19
ZhLlst 1.00] 3.53 ~ 11.31 100.00| #hi4t 038 ~ 11.31] 3.00 15.16 Fhn st 1.00] 5.00 ~ 10.55 100.00] #n it | 500 ~ 25.00f 3.00 15.16
7 100kN/mM%#BZ % 1.00/0.00 ~ 2.67 142.04| 3m%E#B %25 -~ - - —| 100kN/ Mm%z % 1.00| 11.08 ~ 31.22 142.04| 3m%EHB 25 -~ - - -
zhlst 1.00] 2.67 ~ 10.45 100.00] Zhilst | 0.00 ~ 10.45] 2.95 14.89 Thst 1.00] 5.00 ~ 11.08 100.00] Zhuist | 5.00 ~ 31.22| 2.95 14.89
8 100kN/m%#8 % % 1.00/0.00 ~ 253 139.72| 3mz#B 2% -~ - - —| 100kN/ Mm% %% 1.00| 11.07 ~ 28.00 139.72| 3m%#BZ 5 -~ - - -
Zzhlst 1.00] 2.53 ~ 10.32 100.00] Z=hilst |0.00 ~ 10.32| 2.85 14.38 zhst 1.00] 5.00 ~ 11.07 100.00] Zhrist | 5.00 ~ 28.00| 2.85 14.38
9 100kN/m##8% % 1.00/0.00 ~ 3.03 148.28| 3m#%#E 24| 0.00 ~ 0.13] 3.07 15.52| 100kN/ Mm% % % 1.00| 10.53 ~ 26.50 148.28| 3m#%i#BZ 5| 25.00 ~ 26.50| 3.07 15.52
ZhLlst 1.00[ 3.03 ~ 10.82 100.00| #h 4t |0.13 ~ 10.82] 3.00 15.16 Fh st 1.00] 5.00 ~ 10.53 100.00] #h 4t | 5.00 ~ 25.00f 3.00 15.16
10 100kN/mM%#B % % 1.00{0.00 ~ 3.02 148.01|3m%#x5%|0.00 ~ 0.20] 3.11 15.72| 100kN/m%#8zx 5% 1.00] 10.57 ~ 25.82 148.01| 3m%# x5 25.00 ~ 2582 3.11 15.72
Zh st 1.00[ 3.02 ~ 10.80 100.00| Zh st |0.20 ~ 10.80| 3.00 15.16 Zhn st 1.00] 5.00 ~ 10.57 100.00] Zh st | 500 ~ 25.00[ 3.00 15.16
100kN/mi%##8 2% ~ ImxHEz5 ~ 100kN/m##82.% ~ 3ImEBZD ~
zhlst ~ ZhLs ~ st ~ zhilst ~
100kN/m% 2% ~ ImEH 2D ~ 100kN/ M#%#8 % % ~ ImEHBZD ~
ZhLlst ~ ZhLls ~ ZFhLlst ~ ZhList ~
100kN/ Mm% 2% ~ ImEHE2 5 ~ 100kN/ Mm% % ~ 3mEBRD ~
ZH LIS ~ Zh st ~ ZHLLSE ~ Zh st ~
100kN/mi%#8 2% ~ ImEEZRD ~ 100kN/ Mm% 2% ~ ImEBZD ~
Zh LSt ~ Zh st ~ ZhLs ~ Zh st ~
100kN/m%##82.% ~ 3ImEH 2D ~ 100kN/ Mm% % % ~ ImEHBRD ~
zhilst ~ Zhs ~ ThLst ~ Thils ~
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